oquiar
L J Assembly Technology 5.23-24

Floor Elements

ML

Leveling Foot-Fixed Foot

X B-EE

Fixed foot have an non-moving connection between base and spindle.

&I SZ B ZF AT A IS £ (8] @ T RIVESNAY .

Material and Color; Base Plate-steel, electrophoresis, black  Spindle-zinc plated steel Pad-black rubber

MERMEE: RE-HRNEX BE FI-ERMIESE  REB-ER Re

Fixed Foot
[EE S
Description D KxL H min. | H max. “gf;igjg{fg Maz Part No.
. Jad - v (mm) (mm) (mm) | (mm) | ﬁ(,\i'{‘ (g;E TS
40 M12x70 85 50 8000 124 | 5.23.40.12.70
: 1 60 M12x70 35 50 8000 181 | 5.23.60.12.70
i - Fixed Foot-Steel Base 80 | Mix70 | 35 | 50 8000 220 | 5.23.80.12.70
, & & 3 B- Tk N R 2
é 80 M12x110 35 80 8000 240 | 5.23.80.12.110
< T 60 M14x70 38 50 6000 225 | 5.23.60.14.70
£
T

80 M14x70 38 50 9000 283 | 5.23.80.14.70
oD Ad:M14 Fixed Foot should use an end cap with a punched hole
- 3 BlE X BIMIAE AT FLin S

Leveling Foot-Pivot Foot

-2 BHE

To support structure where gradual height adjustment is needed, the pivot foot has a small swiveling angle to fit
slightly uneven floor. The connection between the pivot base and the spindle can be released with a tool.
SRMAXMARETERESENERSEN, FTAER), ERTHEEEENE .,
R S FRETATIRRS.

Material: zinc plated steel/stainless steel

MER: BIRIETE TR

Pivot Foot Description D KxL H min. [H max. I\ilax. itajt!ig LP.?E Maz Part No.
2 B MEE R (mm) [ (mm) | (mm) | (mm) Bijiﬁ?,\i‘)"‘zkﬁ (9;5 45
95, s 40 | mi2x128 | 45 | 100 25000 241 | 524.40.12.130
" 60 | Mi2x128 | 45 | 100 25000 475 | 5.24.60.12.130
Hi ot Foctzie Pite gl |20 16158 | 45 | 120 30000 596 | 5.24.60.16.160
I é’% fﬁ?gaggiu-ﬁ%m%;ﬁ 60 | M20x178 | 50 | 130 35000 79 | 5.24.60.20.180
o m 80 | Mi2x128 | 45 | 100 25000 670 | 5.24.80.12.130
- 80 | Mi6x158 | 45 | 120 30000 780 | 5.24.80.16.160
g 80 | M20xt78 | 50 | 130 35000 945 | 5.24.80.20.180

<ol T 40 | mi2x128 | 45 | 100 25000 240 | 5.24.40.12.130.8S

= 60 | M12x128 | 45 | 100 25000 480 | 5.24.60.12.130.8S

_ | 60 | M16x158 | 45 | 120 30000 600 | 5.24.60.16.160.SS

L o s [ 60 | Maoxi78 | 50 | 130 | 35000 | 803 | 524602018055

80 | M12x128 | 45 | 100 25000 675 | 5.24.80.12.130.8S

80 | Mt6x158 | 45 | 120 30000 785 | 5.24.80.16.160.5S

80 | M20x178 | 50 | 130 35000 950 | 5.24.80.20.180.8S

Modular Assembly System [ Modular Conveyor System | Stair and Platform System | Tubular Framing System | Machine Guard System [ www.moduasm.com
RS T AR R 5 BRMERS | TUBSREARS IR ARG HURBI IR R 5 All Rights Reserved




